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1.

The relative exposure to hazard is known as:

A. risk C. hazard
B. danger D. accident

Source or a situation with a potential for harm is known as:

A. risk C. hazard
B. danger D. accident

What is risk in occupational and safety health?

A. Risk is the likelihood of a specified hazardous event occurring.

B. Risk is the severity of a specified hazardous event occurring.

C. Risk is the combination of the likelihood and severity of a specified hazardous
event occurring.

D. Risk is the specified hazardous event occurring with a potential for harm in terms
of human injury.

Which of these best describes "the likelihood of an incident occurs™?

A. Risk C. Anevent
B. Hazard D.  An episode

Why need to carry out risk assessment in the workplace?

A. Assessing the risk and putting in place control measures.

B. Cost-effective management of occupational safety and health (OSH).
C. Control measures and reviewing the outcomes.

D. Implementing measures to reduce the risk associated with a hazard.

When to carry out risk assessment?

A. Before and after operation C. During and after operation
B. Before, during and after operation D.  After operation

Who will carry out the risk assessment?

Any person or persons in the workplace.

Person or persons trained to identify hazard and risk assessment.
Officer from Department of Safety and Health.

Person from top management.
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8.

10.

11.

12.

13.

14.

What is an external change in review risk assessment?

A. Risk analysis that uses likelihood and severity in qualitative method.

B. Presenting result is a very effective way of communicating the distribution of the
risk throughout a plant and area in a workplace.

C. Amendments of standard of procedure and development in the workplace.

D. Amendments of national law and regulations, development of new knowledge.

Risk assessment techniques use in the workplace EXCEPT:

A. Identify hazard C.  Risk control action plan
B. Integrate risk management D. Review adequacy of risk control

The physical classification of hazard is:

A. Biological C.  Electrical
B. Chemical D. Psychosocial

Give the right sequential order of the basic components of risk management.

A. Hazard Identification - Risk Assessment - Review Control Measure - Risk Control
B. Risk Control Hazard Identification - Risk Assessment - Review Control Measure

C. Review Control Measure - Hazard Identification - Risk Assessment - Risk Control
D. Hazard Identification - Risk Assessment - Risk Control - Review Control Measure

Job Safety Analysis (JSA) is a tool used to improve job safety through:

A. Avoid potential hazards associated with each step of a job

B. Control the hazards or potential hazards in the workplace

C. Finding effective control measures to prevent or eliminate exposure
D. Breaking the job down into a sequence of task

Analyzing and estimating the risk can be done by using

A.  Quantitative analysis C. Economic analysis
B.  Job safety analysis D. Engineering analysis

The purpose of Hazard Identification, Risk Assessment and Risk Control (HIRARC):

A. To investigate the accident cause in the workplace

B. To discuss a particular case and the possible severity that could come from the
risks

To identify all the factors that may cause harm to employees and others (the
hazards)

To enable employee to plan, introduce and monitor preventive measures to ensure
that the risks are adequately controlled at all times

o o
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15.

16.

17.

18.

19.

20.

21

22.

Which is not related to HIRARC?

A.
B.

Risk assessment C. Risk control
Hazard identification D. Risk centre

Determine the likelihood categories.

A.
B.

Highly unlikely C. Major injuries
Fatalities D. Firstaid injuries

The conclusion of hazard identification should contain:

A.
B.

accident probabilities C. summary of possible severity
summary of control measures D. list of hazard sources

The most effective control measure in hazard control is:

A.
B.

substitution C. isolation
elimination D. engineering control

Control by engineering design would not include:

A.
B.

interlocking C. supervision
installing safety device D. limitation

All of the following are examples of engineering controls EXCEPT

A.
B.
C.
D.

Adjustable workstation to accommodate various employee sizes.
Elimination of lead-based paint.

Installation of welding curtains during hot work.

Installation of sound-dampening shields on noisy equipment

The hazard analysis of Failure Mode and Effect Analysis (FMEA):

A.
B.
C.

D.

To select the problems that could arise from production systems

Identifying potential hazards associated with sequence of tasks

Is a procedure by which each potential failure and the kinds of failures that could
happen

Breaking the job down into a sequence of task

The best phrase to describe the entanglement hazard is:

SO®»

Involves being caught in machine

Body being pulled and trapped by rotating and tangentially moving parts
When body is being caught between fixed and moving part of machine
Body contact with machine parts
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23.

24.

25.

26.

27.

28.

29,

What is the best way to protect employee working at a noisy machine...

A. Allow the machine to be only used for short periods of time
B. Give the employee a pair of ear defenders

C. Reduce or eliminate the noise from the machine

D. Open all doors and windows to reduce noise level

Safety helmets can be uncomfortable to wear, what should you do when the weather is
really hot

A. Wear it tilted to the right side

B. Wear it tilted to the left side

C. Wear it tilted backwards

D. Wear it according to the manufacturer’s instructions

A risk assessment is important because?
A. Tt tells you who is in charge of health and safety at your worksite
It is used to delegate tasks among workers

B
C. It tells you where tools should be stored
D. It tells you the safest way of performing a task

Which of these are common causes of accidents on a construction work site?

A.  Slips, trips and falls C. Inhaling hazardous substances
B. Falling from height D. All of the above

According to New York Panel Law, physical injury can be defined as:
A. wounds, lacerations and contusions

B. damage to a person’s body in a physical sense

C. impairment of physical condition and substantial pain.

D. work related gradual process injury

Construction phases include pre-tender, contract management and ...

A. sub-structure C. drawing
B. design D. completion
Preliminary appraisal or HIRARC exercise should be conduct in ........... to identify

issues related to safety and health.

pre-tender stage

contract management stage — pre-construction
contract management stage — construction
completion of work

oOowp
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30.

31.

32.

33.

34.

35.

36.

Which of the following is physical injury?

A. Poisoning C.  Amputation

B. Choking D.  All of the above
Poorly maintained scaffold can cause ................. hazard.

A. falling from height C. electrocution

B. falling from same level D. suffocation

What is the effect of mechanical hazard risks to safety and health?

A. Resulting in minor injuries (such as scratches and sprains) or dire consequences
(such as loss of limbs and death).

B. The body loses its ability to cool itself

C. Increased body temperature, a rapid pulse, loss of orientation, confusion,
decreased blood pressure, not conscious and coma

D. Loss of self-control and insane

Why should you keep your work area clean and tidy?

A. To make your supervisor happy

B. To avoid a huge clean up at the end of the week
C. To prevent slips, trips and falls

D. To keep track of your tools and equipment

There is one of the most important methods in reducing electrical hazards where it
should be executed in any kind of electrical equipment there is:

A. Discharge method C.  Safety Training Methods
B. Earthing method D. Method Key System

The greatest danger to humans suffering from electrical shock results from .............

A. current flow C. defective electrical equipment
B. voltage flow D. multimeter

The primary routes of entry of harmful substances into the body are:

eyes, skin, ingestion and inhalation

inhalation, absorption through the liver and kidneys, ingestion
skin absorption, ingestion, inhalation, injection

none of the above

oCowp
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37.

38.

39.

40.

41.

42.

43.

Personal hearing protection should be used ...

A. as the first measure adopted to control a noise hazard or to increase protection
B. asatemporary measure or as a last resort
C. only when you hear ringing in the ears after a noisy activity

D. to allow you to concentrate on a work task without interruption
Vibration usually transferred when in contact with the feet or buttocks:

A. Whole body vibration C. Hand vibration
B. Hand arm vibration D.  Feet vibration

Hand arm vibration may cause:

A. Blurring eye C.  Heart malfunction
B. Vomiting D.  Carpal tunnel syndrome

Following are the basic type of accidents EXCEPT:

A. near miss C. minor accident
B. longterm D. first aid injury

Health surveillance can be described as:

A. the measurement of a hazardous substance, its metabolite or other substances like
enzymes in body tissues, fluids or exhaled air.

B. the monitoring of individuals in order to identify changes in health due to
exposure to hazardous substances.

C. medical treatment which assist recovery

D. management of the process which helps people stay at or return to work.

Following are the basic accident causes EXCEPT:

A. basic causes C. immediate causes
B. intermediate causes D. direct causes

The person those are responsible to investigate and report accidents under the
Occupational Safety and Health Act (OSHA) if a serious accident or injury at work site
BAPPEIL s s o e

A. An OSH officer C.  Victim
B. Everyone at the work site D.  The employer
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44.

45.

46.

47.

48.

49.

Below are some accidents needs to be investigated:

A. Lost time accident C.  Material and equipment damage
B. Injury accident D.  All of the above

Employers are responsible to complete the following form, if there are workers injured
in a workplace

A. Employer’s Report of Accident C. Insurance Claim
B. Employee’s Report of Accident D.  All of the above

In Occupational Safety and Health (OSH) the employer have to do the following things
when an accident happens that resulting in a serious injury at his or her work site.

A. Carry out an investigation into the circumstances surrounding the accident

B. Notify a Director of Inspection as to the time, place and nature of the accident
C. Prepare a report in accordance with the regulations

D. All of the above

Below are unsafe actions that led to the cause of the accident EXCEPT

A. The equipment does not work properly and appropriately

B. Do not follow the safe work protocols

C. Eating, drinking and smoking during work

D. The maintenance of machines and equipment are not done systematically

Following are guide to be followed when conducting an accident investigation EXCEPT

A. Carry out an investigation a week after the incident

B. Obtain information from individuals involved during the incident
C. Protect the evidence derived

D. Record all information with photo, date and time completely

One of the causes of accidents is caused by the problems in the administration.
Following are some of the problems commonly associated with the administration
EXCEPT

Policies / procedures that are not standardized

Communication between supervisors and employee are not clear
Personal protective equipment is not available

Lack of awareness about the importance of safety and health at work

oSowy
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50.

51.

52.

53.

54.

Which of the following must be reported to your employer or supervisor without delay?

A.
B.
C.
D.

A change in the weather forecast

Any safety concern, incident or ‘near miss’ while you are at work
Any idea you have to complete the job faster

Late in completing the task given

Some of the technique used in hazard analysis EXCEPT

L.
I1.
[I.
IV.

A.
B.

Just In Time (JIT)

Job safety analysis (JSA)

Failure Mode and Effect Analysis (FMEA)
Hazard and Operability Studies (HAZOP)

[ only C. I, and I only
I and II only D.  All of the above

Risk assessment in the workplace should be carried out for

1§
II.
I1I.
IV.

A.
B.

Routine activities i.e maintenance, shutdowns abnormal operation

Activities of all personal having access to the workplace (including subcontractors
and visitors)

Facilities at the workplace, whether provided by the organization or others such as
contractors

non-routine activities

[ only C. I, andII only
I and Il only D.  All of the above

Crushing occurs when the body is caught ...

L.
II.
MI.

IV.

A.
B.

Between a fixed and moving part of machine
Between two moving part of machine

Between a moving part of machine and fixed structure
Between a rotating part of machine and human body

[ and 11 C. IlandIlI
I, IT and III D. All of the above

Routes of exposure for chemical entry the body are:

w >

Ingestion III.  Absorption

Inhalation IV. [Injection

I and II C. IandIll

I, II and I1I D.  All of the above
CONFIDENTIAL



DAY 10102

CONFIDENTIAL

55. The basic principle of risk management.

L. Accept no unnecessary risks

II. Make risk decision appropriately

III. Not accept risk when benefit overweigh costs
IV. Control the risk

A. Tlonly C. I,IIand I only
B. IandIlonly D.  All of the above

56. The fault tree analysis focus on:
[.  To analyze how and why accident could occur
II.  Graphic technique
[II. To calculate probability of end event

IV. Select a component for analysis

A. Tonly C. I,IlandIlI only
B. IandIlonly D.  All of the above

57. The types of physical injury can happened in the workplace:

. Wounds, lacerations, contusions II.  Impact
II. Burns IV. All of the above
A. Tonly C. 1,IIand I only
B. IandIlonly D.  All of the above

58. Safety guarding is use to prevent body part from contact with the dangerous part of
machine. Types of safety guarding:

. Fixed III.  Adjustable
II.  Interlock IV. Self adjusting
A. Tlonly C. I,IIand I only
B. IandIlonly D.  All of the above

59. Principle of prevention and control of health hazards are:

I.  Anticipate

II. Identify

[1I. Evaluate

IV. Control and review

A. Tlonly C. 1,IIand I only
B. TandIIonly D.  All of the above
CONFIDENTIAL

10



DAY 10102

CONFIDENTIAL

60. An accident investigation would:

I. Determined causes of accident

II. Provide means to uncover new hazards
[11. Identify weakness in operating procedures
IV. Record fact for future reference

A. Tonly C. I, and Il only
B. TandIlonly D. All of the above
- END OF QUESTION -
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